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Look it Up!, Renewable
PART A: Grammar and Vocabulary Energy
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct Yo¥us
choice on your answer sheet. AY dxiuio b 7= dxiuo
. q q ¥ ol
61-If you ... with the quality of the product, you will have a chance to get your money Art and Culture
back immediately. ¥ oo
1) weren’t satisfied 2) aren’t satisfying Y xbio Gl b A- Ao
3) weren’t satisfying 4) aren’t satisfied

62-During the operation, the doctor had to be careful ... off any blood vessels or nerves.
1) to don’t cut 2) not to cut
3) cutting not 4) didn’t cut

63-Have you ever been in a dangerous situation? What do you think you ... if you got lost or trapped in a
place and no one knew your whereabouts?

1) would do 2) will do
3) have done 4) had done
64- Stuck in bed with a broken leg, all I could do was to ... on the accident that put me there.
1) reflect 2) depend
3) appreciate 4) imagine

65-1 didn’t think Larry and Patricia had anything in ..., but they talked all evening and it seemed that they
could get along with each other.
1) nature 2) opposition
3) common 4) agreement

66- The Earth’s atmosphere, which consists ... of oxygen and nitrogen, is something that makes life possible.
1) gradually 2) uncertainly
3) directly 4) primarily

67-Most traditional stories contain a/an ... lesson. In other words, they attempt to teach children how to
behave while entertaining them.

1) emotional 2) moral 3) magic 4) portable

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice on your
answer sheet.

With limited space for parks and gardens, architects often find it challenging to ...(68)... greenery in
neighborhoods. One creative solution is to grow plants on unused areas like walls and rooftops. Adding
gardens to rooftops or walls can create a pleasant environment. Using plants ...(69)... cover walls and
rooftops can also keep cities cooler in the summer. Buildings and roads ...(70)... the sun’s heat and hold it,
causing a building or neighborhood to stay warmer longer. Plants, on the other hand, provide an enormous
amount of shade. There is scientific evidence that growing a roof or wall garden can lower a building’s
energy ...(71)... .

Rooftop gardens are also used to grow food. In recent years, these green spaces have slowly been included
in the “local food movement.” This is based on the belief that locally grown food reduces ...(72)... since it
does not have to be transported far.

68- 1) include 2) value 3) recognize 4) decrease
69- 1) for 2) that they 3) to 4) and

70- 1) consume 2) absorb 3) surround 4) generate
71- 1) prices 2) levels 3) amounts 4) costs

72- 1) fuel 2) pollution 3) demand 4) variety
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PART C: Reading Comprehension

Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on your
answer sheet.

PASSEGE 1:

International trade is growing at a surprising pace. While the global economy has been expanding at a bit

10 omieo (03 1 7o 3 (o 20 (0l 3) 233193 090 VFee ol Yo g3l

over 3% a year, the volume of trade has been rising at a compound annual rate of about twice that. Foreign
products, from meat to machinery, play a more important role in almost every economy in the world, and
foreign markets now tempt businesses that never much worried about sales beyond their nation’s borders.

What lies behind this explosion in international commerce? The general worldwide decline in trade
barriers, such as customs duties and import quotas, is surely one explanation. The economic opening of
countries that have traditionally been minor players is another. But one force behind the import-export
boom has passed all but unnoticed: the rapidly falling cost of getting goods to market. Theoretically, in the
world of trade, shipping costs do not matter. Goods, once they have been made, are assumed to move
instantly and at no cost from place to place. The real world, however, is full of frictions. Cheap labor may
make Chinese clothing competitive in America, but if delays in shipment tie up working capital and cause
winter coats to arrive in spring, trade may lose its advantages.

At the turn of the 20th century, agriculture and manufacturing were the two most important sectors
almost everywhere, accounting for about 70% of total output in Germany, Italy and France, and 40-50% in
America, Britain and Japan. International commerce was, therefore, dominated by raw materials, such as
wheat, wood and iron ore, or processed commodities, such as meat and steel. But these sorts of products are

heavy and bulky and the cost of transporting them is relatively high.

73- According to the passage, all of the following statements are true EXCEPT ... .
1) delay in shipment can lead to disadvantages in trade
2) the cost of transporting heavy and bulky products is relatively high
3) international trade is increasing at a greater rate than the world economy

4) the rapidly falling cost of getting goods to market has been greatly noticed

74- What does the pronoun “their” in paragraph 1 refer to?
1) foreign markets 2) businesses

3) sales 4) nations

75- The passage most probably continues with a discussion of ... .
1) the cost of transporting heavy goods to other countries and regions
2) the growth of technology and its effects on international commerce
3) most important sectors of international trade

4) how cheap workforce affects the competition in commerce

76-1t can be understood from the passage that ... .
1) agriculture and manufacturing are not important sectors of trading anymore
2) the volume of trade has been rising at a compound annual rate of 6 percent
3) in theory, shipping cost is more important than other factors in trading

4) Japan imports more meat and steel than France
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PASSEGFE 2:

A genetically modified organism (GMO) is an animal, plant, or microbe whose DNA has been altered using
genetic engineering techniques. Most animals that are GMOs are produced for use in laboratory research.
These animals are used as “models” to study the function of specific genes and, typically, how the genes
relate to health and disease. Some GMO animals, however, are produced for human consumption. Salmon,
for example, has been genetically engineered to mature faster, and the U.S. Food and Drug Administration
has stated that these fish are safe to eat.

GMOs are perhaps most visible in the produce section. The first genetically engineered plants to be
produced for human consumption were introduced in the mid-1990s. Today, approximately 90 percent of
the corn, soybeans, and sugar beets on the market are GMOs. Genetically engineered crops produce higher
yields, have a longer shelf life, are resistant to diseases and pests, and even taste better. These benefits are a
plus for both farmers and consumers.

Genetically modified foods do cause controversy, however. Genetic engineering typically changes an
organism in a way that would not occur naturally. It is even common for scientists to insert genes into an
organism from an entirely different organism. This raises the possible risk of unexpected allergic reactions
to some GMO foods. Other concerns include the risk of the genetically engineered foreign DNA spreading to
non-GMO plants and animals. So far, none of the GMOs approved for consumption have caused any of

these problems.

77- According to the passage, it is TRUE that ... .
1) genetic engineering generally changes an organism in a natural way
2) most of the corn and soybeans on the market are genetically modified
3) genetically engineered crops can easily die from pests and diseases

4) farmers and consumers prefer to avoid using genetically engineered crops

78-The underlined word “altered” in paragraph 1 is closest in meaning to ... .
1) changed 2) identified 3) measured 4) reduced

79- Which of the following best expresses the relationship between paragraphs 2 and 3?
1) Paragraph 3 explains why the benefits of GMOs mentioned in paragraph 2 are simply not worth the harms
and the costs.
2) Paragraph 3 provides even more reasons as to why the use of GMOs is not a positive idea.
3) Paragraph 3 mentions some of the possible risks and concerns of using GMOs to contrast the benefits
mentioned in paragraph 2.

4) Paragraph 3 supports the central idea of paragraph 2 through the use of multiple examples.

80-There is enough information in the passage to answer all of the following questions EXCEPT ... .
1) when were the first genetically engineered plants to be produced for human consumption introduced?
2) what are some of the important benefits of using GMOs in the produce section?

3) what is one example of an animal that has been genetically modified?

4) why is it that some people are allergic to GMO foods while others are not?
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Part A: Grammar
Directions: Questions 81-90 are incomplete sentences. Beneath each sentence you will see four words or phrases
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct

choice on your answer sheet.

81-I tried my best to make her happy, but she seemed too sad to talk to. Later, my friend told me her
story. Only then ... why her mood had changed so much.

1) I understood 2) I had understood
3) did I understand 4) had I understood
82-Had the student reviewed the resources during the first semester, he ... the course last year.
1) would not fail 2) did not fail
3) had not failed 4) would not have failed
83-She wishes she ... the biggest chance of her life to start a new business with her brother two years
ago.
1) did not miss 2) had not missed
3) not miss 4) could not miss

84-1 strongly recommend that they ... to enter the National Wrestling competition. They have already
been banned by the Ethics Committee.
1) not be allowed 2) do not be allowed
3) should not allow 4) have to allow them
85-One of the famous researchers attending the meeting last year said they ... their fight to find a cure
for Aids in the not too distant future.
1) had continued 2) continued
3) would continue 4) will continue
86-1 think they’d help you if they had sufficient information about this issue, ...?
1) hadn’t they 2)don’t 1
3) wouldn’t they 4) had they
87-1n this region, the quality of life for elderly people has not really improved, their self-reliance has
not increased, and ... their participation in society.
1) either has 2) either have
3) neither has 4) neither have
88-The match was cancelled due to some security limitations last week but I’m dead sure if the
officials ... for a second time, they’ll complain to FIFA.
1) call it off 2) called it off
3) call off it 4) called off it
89-1t is crucial that a court reporter ... completely accurate in their typing so that no important words
or phrases are missed.
1) to be 2) be 3)is 4) would be
90- ... the president of a large transnational corporation, how would you metivate your employees?
1) If you are 2) You were 3) Were you if 4) Were you
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Part B: Vocabulary
Directions: Questions 91-105 are incomplete sentences. Beneath each sentence you will see four words or phrases
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct

choice on your answer sheet.

91-1t was hard to believe that the crowd managed to break through the ... and get onto the pitch.
1) choices 2) compounds 3) barriers 4) volumes
92-The translator has obviously ... very strictly to the original text; that’s why some of the expressions
in the book sound foreign to us.
1) maintained 2) compiled 3) adhered 4) assembled
93-Unlike fossil fuels, which can be used only once, wind and solar power are ... sources of energy.
1) delicious 2) recreational 3) intimate 4) renewable
94-You’d better ... smoking cigarettes as soon as possible as it is life-threatening to your health.
1) pass away 2) give up 3) make up 4) hang out
95-What makes it difficult for me to teach effectively is that all students are lumped together in one

class, ... of their ability.

1) destructive 2) concerning 3) particular 4) regardless
96-The respondents were also asked a supplementary question designed to ... some further
information.
1) elicit 2) magnify 3) consume 4) predict

97-Following my request, the factory gave me a/an ... so that I could get my necessities and pay some
of my debt.
1) posture 2) emphasis 3) advance 4) margin
98-The man, seeing off his only daughter at the airport, was so emotional that he couldn’t ... himself
and burst into tears.
1) consider 2) recommend 3) contain 4) disagree
99-The manager, saying that he didn’t have a head for ..., asked me to prepare him a complete and
precise report on the company’s expenses.
1) figures 2) authors 3) results 4) regards
100-Scientists believe that new technologies will open the door toa ... of new products in the
microelectronics and biomedical fields.
1) host 2) hatch 3) sight 4) delivery
101-Because of her late arrival in Sao Paulo, the passenger missed the ... flight and had to stay at the
airport hotel.
1) smooth 2) connecting 3) honored 4) introductory
102-She dedicated her ... life to photography, traveled to different parts of the world to take some shots
and became a leading personality in photography.
1) entire 2) countless 3) opposite 4) marine
103-My parents really care about the environment and constantly ... my siblings and me to turn off the
tap whenever we brush our teeth.
1) decrease 2) arrange 3) remind 4) signal
104-1t is crucially important in the political science to figure out that international relations are
extremely ... and cannot be controlled from any one center.
1) original 2) commercial 3) accessible 4) complicated
105-Simply expressed, humans should love God, act ..., be kind to all, and avoid pride.
1) fairly 2) barely 3) boldly 4) sharply
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Part C: Sentence Structure

Directions: Choose the sentence with the best word order for each of the following series. Then mark the correct choice
on your answer sheet.

106-
1) In certain parts of the country, some hometowns lionize their high school teams and players the way
they would professional athletes.
2) There are certain parts of the country in they some hometowns are lionized high school teams and
players for they would professional athletes.
3) In certain parts of the country, some hometowns are lionized that their high school teams and players
the way they would professional athletes.
4) There are certain parts of the country some hometowns lionize that high school teams and players for
they would professional athletes.
107-
1) Patrick could count only a few friends had stayed by his side even during the most tried times.
2) Patrick could count only few friends had stayed by his side even during the most tried times.
3) Patrick could count only few friends who had stayed by his side even during the most trying times.
4) Patrick could count only a few friends who had stayed by his side even during the most trying times.
108-
1) The more I know, the authorities were flushed the criminal out of hiding by released attack dogs.
2) As far as [ know, the authorities were flushed criminal out of hiding by releasing attack dogs.
3) As far as I know, the authorities flushed the criminal out of hiding by releasing attack dogs.
4) The more I know, the authorities flushed criminal out of hiding by released attack dogs.
109-
1) He refrained of doing so until the rest of his family were seated, though Timmy couldn’t wait to eat his
pizza.

2) Though Timmy couldn’t wait to eat his pizza, he refrained from doing so until the rest of his family
were seated.

3) Doing so until the rest of his family were seated, therefore Timmy couldn’t wait to eat his pizza, he
refrained from it.

4) To eat his pizza he refrained of doing so until the rest of his family were seated therefore Timmy
couldn’t wait.
110-
1) She’d retracted the statements she’s made earlier about my careless driving, once video footage reveals
that she accidentally scratches her own car.
2) She accidentally scratches her own car, but she retracted the statements she’d made earlier about my
careless driving once video footage revealed that.
3) Once video footage revealed that she had accidentally scratched her own car, she retracted the
statements she’d made earlier about my careless driving.
4) Earlier she makes statements about my careless driving that accidentally scratched her own car, and
once video footage revealed that she retracted it.
Part D: Language Function
Directions: Read the following conversations between two people and answer the questions about the conversations by
choosing one of the choices (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.
A: Elina used my laptop without getting my permission, and deleted all of my documents. I’m after
her blood.
B: Jane, please ...(111)... !
A: How can I? I had worked on those documents for five years.
B: ...(112).... You had better talk it over with your boss.
A: ...(113)... . I don’t dare. If he knows, he’ll throw the book at me.

111- 1) keep your chin up 2) keep your shirt on
3) keep it in mind 4) keep a low profile

112- 1) Sit on the fence 2) That’s the breaks
3) Tell me about it 4) Make it two

113- 1) Nothing to do with it 2) Nothing special

3) There’s nothing to it 4) Nothing doing
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A: Last night, Ted was at the receiving end of my anger when he said my grades were terrible.

B: ...(114)...! ’m sure he was only joking.

A: Don’t make me laugh! He was pretty serious. Tonight, I am going to ...(115)... by talking about
his background in prison.

114- 1) Chop chop 2) Take the plunge
3) Lighten up 4) Call the shots
115- 1) get my own back 2) put him in the picture
3) keep him in the dark 4) show him the ropes
A: Have you seen Amelia today? I ...(116)... her at the cafeteria and she seemed to me to be
...(117)... .
B: Well, she has been ...(118)... a difficult time at work. I think ...(119)... she took a vacation.
A: ...(120)..., why not take her out for dinner tonight?
B: That’s a great idea!
116- 1) eased up 2) showed off
3) got ahead of 4) bumped into
117- 1) going with the tide 2) water under the bridge
3) at the end of her rope 4) armed to the teeth
118- 1) working out 2) picking out
3) going through 4) putting through
119- 1) it’s a shame 2) it’s high time
3) more or less 4) time after time
120- 1) Come to think of it 2) No wonder
3) Back to square one 4) More often than not

Part E: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the
correct choice on your answer sheet.

121-
122-
123-
124-
125-
126-
127-
128-
129-
130-
131-

When we are young and growing up, there is always an elder person whom ...(121)... and dote on
for many reasons. Usually, it is a parent, teacher, sibling, cousin, uncle or aunt, who is someone we
look ...(122)... and copy. Some of us may do it ...(123)..., while some of us will do it without realizing
how influenced we are getting by them. They are our role models and these role models keep
...(124)... as we grow up, according to the changes in our tastes and needs. Having role models in our
life is very important, and having good role models is more important, ...(125)... they influence what
we do and how we turn out eventually. Positive role models influence our actions and motivate us to
strive to uncover our true potentials and ...(126)... our weakness. Having them pushes us to make
the most of our life.

Role models are a must for self-improvement because we must have a standard to strive for or
compare ...(127)... . There must be a ‘greatness’ or a ‘stardom’ that we should wish to ...(128)... if
we want to have even a mediocre amount of success in any aspect of life. Therefore, it is important to
have the right ...(129)... to discover who you are and do your best.

All great leaders, sportsmen and successful people have one thing in common—they all have
positive role models whom they strived to ...(130)... in some way and eventually end up doing better
than their role models. Argentinian player Lionel Messi confessed ...(131)... France legend Zinedine
Zidane as his role model in football when he was growing up, labelling him a “hero”. Now, don’t you
think Messi has probably outdone Zidane as a footballer? And since Bill Gates, Steve Jobs and Mark
Zuckerberg became global icons ...(132)... their phenomenal success in the fields of technology and
business, many youngsters ...(133)... the tech bandwagon and set up businesses by following their
passion or any out-of-the-box idea ...(134)... to their heads. Some even became dropouts like
Zuckerberg to give ...(135)..., though I can’t say it’s a bright idea.

1) we admire 2) to admire 3) is admired 4) admire

1) forward to 2) out for 3)upto 4) down on
1) haphazardly 2) intentionally 3) inadvertently 4) reluctantly
1) to change 2) changing 3) to changing 4) change

1) when 2) despite 3) whereas 4) as

1) overcome 2) suffer 3) exploit 4) create

1) us 2) ourselves 3) ourselves with 4) us with

1) describe 2) reduce 3) achieve 4) convert

1) expression 2) infection 3) generation 4) inspiration
1) emulate 2) permeate 3) fluctuate 4) bemuse

1) to having 2) to have 3) having 4) had
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132- 1) because 2) due to 3) instead 4) contrary to
133- 1) joining 2) were joined 3) have joined 4) have been joined
134- 1) that come 2) came 3) that came 4) comes
135- 1) full time to their passion 2) their passion to full time
3) to their passion full time 4) to their full time their passion

Part F: Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passage is followed by some questions. Answer the
questions about the passages by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on your
answer sheet.
PASSAGE 1:
Genes from any organism, from viruses to humans, can now be inserted into plants, creating what
are known as transgenic plants. The most common transgenic crops are soybeans, corn, cotton, and
canola. Most often, these plants either contain a gene making them resistant to the herbicide
glyphosate or they contain an insect-resistant gene that produces a protein called Bt toxin.

On the positive side, proponents of transgenic crops argue that these crops are environmentally
friendly because they allow farmers to use fewer and less noxious chemicals for crop production. For
example, a 21 percent reduction in the use of insecticide has been reported on Bt cotton (transgenic
cotton that produces Bt toxin). In addition, when glyphosate is used to control weeds, other more
persistent herbicides are not needed anymore.

On the negative side, opponents of transgenic crops suggest that there are many questions that need
to be answered before transgenic crops are grown on a large scale. One question deals with the
effects that Bt plants have on nontarget organisms such as beneficial insects, worms, and birds that
consume the genetically engineered crop. For example, monarch caterpillars feeding on milkweed
plants near Bt cornfields will eat some corn pollen that has fallen on the milkweed leaves. Laboratory
studies indicate that caterpillars can die from eating Bt pollen. However, field tests indicate that Bt
corn is not likely to harm monarchs. Furthermore, the application of pesticides (the alternative to
growing Bt plants) has been demonstrated to cause widespread harm to nontarget insects.

Another unanswered question is whether herbicide-resistant genes will move into the populations
of weeds. Crop plants are sometimes grown in areas where weedy relatives also live. If the crop
plants hybridize and reproduce with weedy relatives, then this herbicide-resistant gene will be
perpetuated in the offspring. In this way, the resistant gene can make its way into the weed
population. If this happens, a farmer can no longer use glyphosate, for example, to kill those weeds.
This scenario is not likely to occur in many instances because there are no weedy relatives growing
near the crop plant. However, in some cases, it may become a serious problem. For instance, canola
readily hybridizes with mustard weed species and could transfer its herbicide-resistant genes to those
weeds.

136-Which of the following statements is true about transgenic plants that produce the protein Bt?

1) They are resistant to certain herbicides.

2) They grow best in the United States.

3) They were treated with the chemicals glyphosate.

4) They are resistant to destruction by insects.

137- According to the passage, supporters claim that producing transgenic plants enables farmers to ... .

1) increase crop production by up to 21 percent

2) use fewer and less toxic chemicals

3) control weeds without the use of glyphosate

4) take advantage of more effective herbicides

138-The underlined word “persistent” in paragraph 2 is closest in meaning to ... .

1) harmful 2) long lasting
3) expensive 4) hard to control
139-What conclusion does the author make in paragraph 3 about the effect of Bt plants on nontarget
organisms?

1) Bt toxins do not affect nontarget organisms because the toxins only harm pests that eat the leaves,
stems, or fruit of the plants.

2) Bt plants have been shown in field studies to cause great harm to nontarget organisms.

3) Bt plants do not cause as much harm to nontarget species as the use of conventional pesticides.

4) Even if Bt toxins do not affect the insects that feed on the plants, they have harmful effects on birds
that eat these insects.

140-Why does the author mention “mustard weed species” in the discussion of plants that hybridize?

1) To give an example of a weed that may become resistant to glyphosate due to hybridizing with a
transgenic plant

2) To argue that creating transgenic plants in the laboratory is not always necessary, as some can be
created through hybridizing in the fields

3) To provide evidence that competition from related species of plants can be a serious problem for
transgenic plants

4) To support the claim that it is difficult to determine whether or not a crop plant has been planted a safe
distance from weedy relatives
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141-Which of the following statements can be logically inferred about monarch caterpillars from the

passage?
1) They often cause damage to corn crops.
2) They are the only species that is immune to Bt toxin.
3) They are considered beneficial insects.
4) Their reactions to Bt pollen have not yet been studied.

142-1t is understood from the passage that ... .

1) it is impossible for the herbicide-resistant genes to be transferred from the original plant to other plants

2) the problems identified with transgenic plants today will certainly disappear as scientists design
transgenic plants that are more ecologically friendly

3) when glyphosate is used to control weeds, the application of sustained pesticides is quite necessary

4) opponents of transgenic plants worry that resistance to glyphosate may spread to weeds and that
resistance to Bt toxin may develop among insect pests

143-The underlined word “it” in the last paragraph of the passage refers to ... .

1) the resistant gene

2) the fact that there are no weedy plants growing near the crop plant

3) the situation in which the resistant gene can make its way into the weed population
4) the fact that farmers can no longer use glyphosate to control the crop plants

144-Which of the following methods of idea development is NOT used in the passage?

145-

146-

147-

148-

149-

150-

1) cause and effect 2) contrast
3) citation 4) exemplification
PASSAGE 2:

In the body’s blood system, the heart is the pump that does the vital job of circulating the blood to all
parts of the body. The tubes or blood vessels which carry blood from the heart are known as arteries;
the blood vessels that return the blood to the heart are veins. The heart is really two pumps side by
side. Each pump sucks blood from veins into a collecting chamber, the atrium, which then pushes the
blood under high pressure into the ventricle below it. The ventricles (heart chambers) pump the
blood under high pressure into arteries. The pulse, which can be felt at various parts of the body, is
caused by the simultaneous pumping action of the two ventricles.

Blood that has given up its oxygen to the tissues (deoxygenated blood) enters the heart through the
right atrium. The right ventricle then pumps it to the lungs. Here, it collects oxygen and returns
through the veins to the left side of the heart to be pumped to the rest of the body, before returning
to the right atrium again. The double circulation is needed because the pressure has to be increased
by re-pumping through the heart, so that it can pass around the body fast enough to supply the body
tissues with the necessary oxygen.

A very important role is played by small flaps of skin at the exits of the heart and between the
atriums and ventricles: these are one-way valves that prevent the blood going the wrong way. If these
valves are faulty, it has a serious effect on the system, as blood seeps out from the flaps.

Which of the following is the main topic of the passage?

1) When the heart fails to work 2) The blood system of the body

3) The importance of oxygen in the body 4) Why the heart has two pumps

The word “simultaneous” in paragraph 1 is closest in meaning to ... .

1) one at a time 2) all the time 3) at the same time 4) time after time
The pronoun “it” in paragraph 2 refers to ... .

1) blood 2) heart 3) atrium 4) ventricle
According to the passage, when the blood needs more oxygen, it gets it from the ... .
1) atrium 2) veins 3) tissues 4) lungs

Why is the blood passed through the right atrium twice?

1) To be re-oxygenated 2) To increase the pressure

3) To boost the lungs 4) To speed up the heart’s beat
According to the passage, if there is a fault in the valves, the blood ... .

1) stops flowing 2) changes course

3) is absorbed by the skin flaps 4) is trapped in the heart
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